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1. (1 punto)
1 2 3 4
Base 2(8 hits) Base 7 Base 10 Base 16
00100110 53 38 26
10011011 -203 -101 -65
2. (3 puntos)
a)
Functi on CodCia( ByVal num As String) As |nteger
If Md(num, 1, 2) ="65" O Md(num, 1, 2) ="68" Then
CodCia=1
El se
If Md(num, 1, 2)="67" Then
CodCia=2
El se
| f M d(num, 1, 3) = "666" Then
CodCia=3
El se
CodCia=0
End | f
End If
End If
End Function
b)

Functi on NomCia( ByVal cod As Integer) As String
Sel ect Case cod
Case 0
NomCia = "Otras"
Case 1
NomCia = "Globalfén"
Case 2
NomCia = "Estafénica"
Case 3
NomCia = "Demofonos"
End Sel ect
End Function

c)

Sub cmdOpe_Click()
Di mnum As String
Di mcod As | nteger
num = | nput Box("Introduce el nimero de teléfono™)
cod = CodCia(num)
MsgBox ("La compafiia es: " & NomCia(cod))
End Sub
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3. (3 puntos)

___________________
__________________

" str: cadena !
i, n: enter |
n =Len(strNum) i él (;az.tjs i
entero !
N1 no ¢
S Div9 = strNum = "9"

stri=""

!

i=1

_ no
—P» i=i+2 I<n
Si

d1 =Mid (strNum, i, 1)

A 4
n si strNum = strl

d2 =Mid (strNum, i+1, 1) d2 ="0"

| |
v

suma =Val(dl) +Val(d2)
strl = strl & suma
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Function Div9( ByVal strNum As String) As Bool ean
Dimstrl As String
Dimi As Integer,n As Integer
Dimdl As Integer,d2 As I|nteger
Di msuma As | nteger
n=  Len(strNum)
Wilen>1
strl=""
Fori=1 Ton Step2
dl = M d(strNum, i, 1)
Ifi=n Then
d2 ="0"
El se
d2 = M d(strNum, i + 1, 1)
End | f
suma = Val (d1) + Val (d2)
strl = strl & suma
Next i
strNum = strl
n= Len(strNum)
Wend
Div9 = strNum = "9"
End Function
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Sub cmdl_Click()
Dimnl As Integer,n2 As Integer,mn As |Integer
Dimi As Integer,cnt As |nteger

I f I sNumeri c(txtl.Text) Then
I f 1 sNumeri c(txt2.Text) Then
nl= Val (txtl.Text)
n2 = Val (txt2.Text)
If n1>n2 Then
mn = n2
El se
mn =nl
End | f
cnt=0

For i=2 Tomn Step1l
Ifnl Mdi=0 Andn2 Mdi=0 Then

cnt=cnt+1
End | f
Next i

If cnt>=2 Then

MsgBox (n1 & "y " &n2 & " son aceptables")
El se

MsgBox (N1 & "y " &n2 & " no son aceptables")
End | f

El se
MsgBox ("El nimero 2 no es numérico")
End |f
El se
MsgBox ("El nimero 1 no es numérico")
End If
End Sub
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